Wie lautet die fehlende Zahl (bis 2.000)?

Addieren

Aufgabe 1 Aufgabe 2
1. 981 + = 1715 1. 923 + = 1422
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9. 584+ = 1 051 9. 936+ = 1210
10. 876 + = 1672 10. 561+ = 1048
Aufgabe 3 Aufgabe 4
1. 684 + = 1318 1. 885 + = 1553
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9. s14+ = 1192 9. B3+ = 1106
10. 658+ = 1127 10. 49+ = 1274
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Wie lautet die fehlende Zahl (bis 2.000)? | ANTWORTEN

Aufgabe 1
1. 981 +
2. 914 +
3. 589 +
4. 512 +
5. 991 +
6. 656 +
7. 902 +
8. 599 +
9. 584 +
10. 876 +
Aufgabe 3
1. 684 +
2. 898 +
3. 746 +
4 572 +
5. 994 +
6. 947 +
7. 275 +
8. 689 +
9. 614 +
10. 658 +
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1715

1274

1108

915

1675

1231

1652

927

1 051

1672

1318

1426

1022

976

1902

1879

542

903

1192

1127

Aufgabe 2
1. 923 +
2. 829 +
3. 659 +
4, 622 +
5. 972 +
6. 626 +
7. 559 +
8. 737 +
9. 936 +
10. 561 +
Aufgabe 4
1. 885 +
2. 816 +
3. 690 +
4. 728 +
5. 460 +
6. 572 +
7. 854 +
8. 997 +
9. 733 +
10. 749 +

Addieren

499 = 1422

237 = 1066

405 = 1064

540 = 1162

882 = 1854

297 = 923

489 = 1048

239 = 976

274 = 1210

487 = 1048

668 = 1553

792 = 1608

380 = 1070

507 = 1235

296 = 756

454 = 1026

269 = 1123

550 = 1547

373 = 1106

525 = 1274
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